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QUESTION ONE

Wiremu owns Beachsplash, a kayak hite shop at Whatuwhiwhi Beach, Northland.
Wiremu has noticed the rise in popularity of paddle boarding and wishes to add paddle
board hire to his kayak hire business.

On 1 April 2015, Wiremu provided Torpedo7 (a supplier of paddle boards) with a
summary of Beachsplash’s Cash Flow Statements for the previous two years. Torpedo7 -
will use this information to decide whether to approve the purchase of paddle boards

on aredit by Beachsplash.
Beachsplash
Cash Flow Statement (summary) for the years ended 31 March
2014 2015
$ 5
Total receipts 145000 170000
Total payments 137000 145000
Net increase (decrease} in cash - 8000| - '~ 25000
(a) J‘ustify how the information contained in the Cash Flow Statement (summary) above would

support a decision by Torpedo? to approve Beachsplash's purchase of the paddie boards on
credit. In your answer explain:

o the purpose of a Cash Flow Statement

° how the Cash Flow Statement summary for Beachsplash illustrates monetary

measurement

° how the qualitative characteristic of comparability would support Torpedo?isin méking ]

a decision to approve Beachsplash’s purchase of the paddle boards on credit.
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In April 2015, Beachsplash purchased the paddle boards omn credit from Torpedo7 for a
total cost of $15 500. The paddle boards are to be reported as a non-current asset.

(by Justify why Beachspiash will report the paddie boards as a non-current asset. In your
~answer, explain:
e using the definition of an asset, why the paddle boards are reported-as an asset
o the recognition criteria of an asset, as it relates to the paddie boards
o why the paddie boards are reported as non-current.
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QUESTION TWO

In order to let the Whatuwhiwhi Beach community and visitors know that Beachsplash
now hires out paddle boards as well as kayals, Wiremu contracted a builder to install a
permanent billboard on Beachsplash’s roof. The billboard was installed in April 2015 at a
cost of $8 000 and will be reported as a non-current asset.

Wiremu will use different depreciation methods for the billboard and paddle boards.
He will depreciate the billboard using the straight-line depreciation-method, and the
paddle boards using the units-of-use depreciation method.

(@) Justify the depreciation methods chosen by Wiremu for the billboard and the paddle boards.
In your answer:

o describe the straight-line dépreciation method

° describe the units-of-use depreciation method

° explain why straight-line depreciation is appropriate for the billboard

L explain why units-of-use depreciation is appropriate for the paddle boards.
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In addition to the billboard (which cost $8 000), Wiremu also spent $250 purchasing a
footpath sign that is placed outside Beachsplash’'s premises each day. The billboard and
footpath sign by definition are both assets, but in the Financial Statements Wiremu
intends to report the billboard as a non-current asset and the footpath sign as an
advertising expense.

(b) Justify Wiremu’s intention to report the footpath sign as an advertising expense in
Beachsplash's Financial Statements. In your answer:

0 explain how historical cost will be applied to the reporting of the foctpath sign
° describe the qualitative characteristic of materiality

o explain why materiality will enable Wiremu to report the feotpath sign as an
advertising expense.
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QUESTION THREE

Beachsplash also provides paddle board lessons. The lessons and associated hire of
paddle boards are reported as Paddle Board Hire and Lesson income. In the last week
of March 2016, Beachsplash invoiced a school $500 fox paddle board hire and lessons for

that Week

(@)  Justify why Beachsplash will report the $500 for paddle board hire and lessons as income in
the Income Statement for the year ended 31 March 2018. in your answer, explain:

. using the definition of income, why the $500 for paddle hoard hire and lessons is
income _ ,

o how the gqualitative characteristic of faitfiful representation is being met by reporting
the $500 paddle board hire and lessons as income.
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1

Beachsplash’s Cash Flow Statement for the year ended 31 March 2016 reports paddle
board hire and lesson income as $28 000. This includes a deposit of $1 000 from the local

school holiday programme to secure paddle board hire and lessons for the April 2016
school holidays.

(b)  Using the accrual basis, explain how and why the deposit of $1000 from the local school
holiday programme was reported in both the Income Statement and the Statement of
Financial Position for Beachsplash for the financial year ended 31 March 2016.
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QUESTION
NUMBER

Accounting 91174, 2016



Annotated Exemplar

Merit exemplar 2016

Subject: | Accounting Standard: | 91174 Total score: | 15
Grade .
Q score Annotation

1 (a) The candidate has identified a purpose of the cash flow statement,
explained how the monetary measurement has been illustrated in the cash
flow statement, and described comparability with an attempt to link to the
context of Beachsplash’s cash flow statement.

1 (b) The candidate has correctly described why the paddle boards are an
asset using the characteristics of past transaction, present control and future
economic benefit. The candidate has explained how the recognition criteria is
being met for reliability and has described that the paddle boards are a non-
current asset.

2 (a) The candidate has accurately explained the straight-line and units-of-use
methods of depreciation, and explained why the straight-line method is
appropriate for the billboard.

2 (b) The candidate has described historical cost in the context of the footpath
sign, the meaning of materiality, and how the footpath sign is immaterial in
amount.

3 (a) The candidate has correctly used the definition of income to describe
why the $500 paddle board hire and lessons is income by correctly linking the
hire and lesson income to accounts receivable increasing, net profit increasing
equity, and not a contribution by the owner but the school. The candidate has
described faithful representation by making reference to terminology but has
not explained how the $500 figure is faithfully represented.

3 (b) The candidate has used the accrual basis concept to justify how and why
the deposit of $1 000 is applied to the Income Statement by explaining that the
paddle board hire income will decrease by $1 000, the reason being that the
deposit doesn’t relate to the current financial year for Beachsplash. The
candidate has described the accrual basis concept in the context of the
Statement of Financial Position by describing how the current liability income
received in advance will increase, but has not explained why.




